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CLASS 3" SYLLABUS & SAMPLE QUESTIONS

Comprehension, Classification, Analogy, Correct Spelling, One Word Substitution, Jumbled Words and
Sentences, Types of Sentence, Noun, Pronoun, Adjective, Verb, Adverb, Preposition, Conjunction, Use of
Possessive, Tense (Elementary), Error Finding, Antonyms/Synonyms, Story and Paragraph Writing, Picture

Composition, Functional English, Mental Aptitude

The Actual Question Paper Contains 50 Questions. The Duration of the Test Paper is 60 Minutes.

Reading comprehension:

The Indian cricket team is the current world cup
champion. In addition to winning the 2011 Cricket
World Cup, they did win the Cricket World Cup in
1983. India was also the host nation for the World
Cup 2011. The captain of Indian team was
Mahendra Singh Dhoni, and the team was consid-
ered as the strongest batting side in the tourna-
ment. The final match of the World Cup was be-
tween India and Sri Lanka, held at Wankhede Sta-
dium, Mumbai. Sri Lanka won the toss and choose
to bat first. They put up a formidable total of 274 in
50 overs. In reply, in first few overs though India
suffered badly with the loss of few quick wickets,
but soon they overcame, and with a massive six of
Dhoni, India lifted the World Cup 2011. Mahendra
Singh Dhoni was awarded the Man of the Match and
Yuvraj Singh was named the Man of the Tournament.

1.  Which country was the host nation for the
Cricket World Cup 2011?
(A) England
(B) Australia
(€)
(D)
(E)

India
Pakistan
None of these

2. Who was named the Man of the Tournament
in the Cricket World Cup 2011?

(A) Mahendra Singh Dhoni
(B) Virat Kohli

(C) Sachin Tendulkar

(D) Yuvraj Singh

(E) None of these

Direction : Question 3 is based on Pronoun:

3. In the given sentences which pronoun will
replace ‘English’ in the second sentence?
English is a global language.
English is spoken in more than hundred
countries.

(A) He (B) She
(C) They (D) It

(E) None of these

Direction : In question 4, fill in the blank with suitable
Article:

4. |Imet_____ European who loves to visit
different parts of the world.
(A) A
(B) An
(C) The
(D) All of these
(E) None of these
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Direction : In question 5, find the Synonym of the
word written in capital letters:
5.  UPRIGHT

(A) Honest

(B) Dishonest

(C) Proud

(D) All of these

(E) None of these

Direction : In question 6, incorrect spelling of a word
is given in the question. Choose the correct spelling
from the options given below:
6. Qualifeied

(A) Qualifeid

(B) Quaelified

(C) Qualified

(D) Qualifide

(E) None of these

Direction : Question 7 is based on conjunction:

7. Which one of the following options joins the
two sentences given below correctly?

Mr. Steve has been sick.

He has been so since coming back from the USA.

(A) Mr. Steve has been sick since coming
back from the USA.

(B) Mr. Steve has been sick as coming back
from the USA.

(C) Mr. Steve has been sick till coming back
from the USA.

(D) All of these
(E) None of these

Direction : Question 8 is based on analogy:

8.

If Prime Minister is to country then Chief

Minister is to ?
(A) Country (B) State
(C) District (D) Village

(E) None of these

Direction : Question 9 is based on Verb:

9.  Whatis the Past Participle Form (V3) of ‘Grow’?
(A) Grows (B) Grew
(C) Grown (D) Growing
(E) None of these

10. Fill 1, 11, 11, IV with P, Q, R and S to make a

meaningful comprehension:
There was a boy who lived in an Indian village.

His name was Ramu. I .Oneday he
was playing with his friends in an open area
near the village. Il . Everybody fled

away, except Ramu. He picked a stick and hit

the leopard on his head several times.
I . But the boy did not retreat. In

the meantime other people from the village

cameto help him. v .

P: The leopard retaliated

Q: All of asudden a leopard appeared there
and attacked one of the boys

R: He was twelve years old

S: Finally the leopard ran away

Choose your answer from the given options :
[ [ |V

(A) PQRS (B) RQPS

(C) SPRQ (D) SRPQ

(E) None of these
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